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Worship 
Theme: 

Right & 
Wrong 

 

Stars of the 
Week: 

Logan (Oak) 

Stanley (Hazel) 

Eloise (Maple) 

Ava (Cedar) 

Henry (Rowan) 

Shay (Elm) 
 

 

Writers of the 
Week: 

Eliana (Oak) 

Matilda (Hazel) 

Jake(Maple) 

Evie (Cedar) 

Eve (Rowan) 

Roman (Elm) 

 

 

http://www.premier-

education.com/sport

My Clothing.  
 

https://corporatetiger.co.uk/school-
uniform/

  

 

http://www.churchsidefederation..norfolk.sch.uk/
http://www.premier-education.com/sport
http://www.premier-education.com/sport
http://tescouniforms.co.uk/emails/click/mgAw5n5JppQ8KzVth5AOR5IftQLgYWg3Ga1YvvKKm181/MQ7f7Kaaqn_j8c5RlAq8jN06I_1Zy12XCCrcM7-nKls1
https://corporatetiger.co.uk/school-uniform/
https://corporatetiger.co.uk/school-uniform/
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http://www.churchsidefederation..norfolk.sch.uk/
http://disruptions.norfolk.gov.uk/nccclosures_schools.html


 

 
There are 22 legs on the cobweb. 

How many spiders and how many flies could 
there be? 

Can you find different ways of solving this? 

 
 

 

   
 

A farmer counts all the legs in his field. 
There are 32. 

How many sheep and how many chickens are 
in the field? 

Are there different ways of solving this? 
 

What if the farmer is standing in the field and 

counts his legs too? 

I'm thinking of a number. 
My number is both a multiple of 5 and a 

multiple of 6. 
What could my number be? 
What else could it be? 

What is the smallest number it could be? 
  

I'm thinking of a number. 
My number is a multiple of 4, 5 and 6. 
What could my number be? 

What else could it be? 
What is the smallest number it could be? 

 
I'm thinking of a number that is 1 more than 
a multiple of 7. 

My friend is thinking of a number that is 1 
more than a multiple of 4. 

Could we be thinking of the same number? 
 
Here's a challenging extension: 
 

We know that: 
 - When 59 is divided by 5, the remainder is 4 
 - When 59 is divided by 4, the remainder is 3 

 - When 59 is divided by 3, the remainder is 2 
 - When 59 is divided by 2, the remainder is 1 

 

Can you find a number with the property that when it is 

divided by each of the numbers 2 to 10, the remainder 
is always one less than the number it is has been 
divided by? 

 

Can you find the smallest number that satisfies this 

condition? 

 

 

http://www.churchsidefederation..norfolk.sch.uk/
https://nrich.maths.org/8495
https://collins.co.uk/pages/primary-mathematics-times-tables-test-simulator
http://www.churchsidefederation.norfolk.sch.uk/wp-content/uploads/2018/07/4075688466729196932-website-maths-essentials-yrs-r-6.pdf
http://www.churchsidefederation.norfolk.sch.uk/wp-content/uploads/2018/07/4075688466729196932-website-maths-essentials-yrs-r-6.pdf

